ECE 403 HWa — Version 1.00 January 18, 2017 Spring 2016

Univ. of Illinois Due: Th, Feb 9, 2017 Prof. Allen

Topic of this homework: Convolution, Fourier and Laplace Transforms, Impedance functions
of Laplace frequency s = o + jw, Filter classes.

Deliverable: Show your work. If you hand it in late, you will get zero credit (Some credit is
better than NONE)! I need a stapled paper copy, with your name on it. No files.doc

Note: Each person is to do their own final writeup, but you may, and should, discuss it as much
as you wish between yourselves. Your crossing the line if you share computer files. The general
rule is, “look, understand, but do not copy.” In otherwords, you need to process all the words you
write through your eyes and fingers. If you use material from elsewhere, you must cite the source.

1 Basic Acoustics

1. What is the formula for the speed of sound?

2. Identify the variables: Names, units, and values of consonants.
3. What is the meaning of nFy?

4. Does Py depend on temperature? Explain?

5. Does pg depend on temperature or FPy? Explain.

6. State the Gas law, in terms of the universal gas constant Ry.

(a) Specifically discuss the value and nature of the constant PV//T.

(b) What is 1 [mole] of air?

(c) What is the relationship between the density of air p and the volume V.
)

(d) Describe the relationship between the gas constant R, Boltzman’s constant k& and Ava-
gadro’s number N 4.

7. What is the form of the dependence of the speed of sound on temperature? Namely give the
formula for ¢(7"), and explain the dependence.

2 deciBels [dB]

1. Express decibels in terms of the pressure ratio

2. State the reference pressure for dB-SPL

3. What is the attenuator gain, expressed in dB, if the voltage is reduced by a factor of 27
4. How many millibels [mB] in 1 bel [B]?

5. Give the formula for the intensity in mB units.

6. Give the formula for the sound pressure level in ¢B (centibel) units.



7. There are two different definitions of acoustic dB, one based on pressure
dBy, = 201ogo(P/Prey)
and a second based on acoustic intensity
dBy = 10logyo(I/I er)

where P is the pressure in Pascals and I = |P|?/pc is the acoustic intensity. Here p is the
density of air and c¢ is the speed of sound. The product pc = 412 [Rayls| is called the Specific
acoustic impedance of air.

Demonstrate that P,..r =20 pPa is the same as I,.¢ = 10712 [W/m?].

8. What is the acoustic impedance observed by a plane wave? What are its units?

3 The Helmholtz Resonator

A bottle has a neck diameter of 1 [cm] and is [ =1 cm long. It is connected to the body of the
bottle “barrel” which is 5 cm in diameter and L =10 cm long. Treat the barrel as a short piece of
transmission line, closed at one end, which looks like a compliance C' = Vygprer/nFPo, and the neck
which look like a mass M = pol/Apecr- These two impedances are in series, since they both see the
same volume velocity (flow).

1. Set the impedance to zero and solve for the bottle’s resonant frequency, in terms of M and

C.

2. Write out the formula for the resonant frequency in terms of the physical dimensions of the
bottle.

3. Calculate the resonant frequency in Hz for the dimensions given.
4. Extra credit: Blow into a blottle and measure the resonant frequency by recording the tone,
and taking the FFT of the resulting waveform, and finding the frequency.
4 Fourier and Laplace transforms
1. Derive the Fourier transform for the step function u(t—1).
2. Derive the Laplace transform for the step function w(t —1).
3. Find the Fourier transform X (w) of
z(t) = u(t) —u(t -.001) < X(w)
4. Find the Laplace transform X (s) of z(t) = u(t) — u(t —.001) < X(s)
5. If a(t) < U(w) is the F step function, what is @(t) * @(t) ?
6. Hand-plot (or describe the plot of) | X (w)| and |X(s)].

7. Where are the poles and zeros in each case above.



5 Laplace Transforms

Laplace transforms: given that f(t) < F(s)
1. Find the Laplace transform of §(t), df (t)/dt, f_too o(t)dt, and f_too u(t)dt.
2. If f(t) = 1/\/nt has a Laplace transform F(s) = 1/\/s:

(
(

a) What is the inverse Laplace transform of /s?

b) What is f(-1)7

(c) Integrate I = [, %ds around the unit circle centered on s = 0.
)

(d) Integrate [, %ds around the unit circle centered on s =.5 (i.e., 0 = .5,w =0), and s = -2.

6 Convolution

Given two “causal” sequences a, = [--+,.~,0,1,0,-1,0,---] and b, = [--+,.",1,-1,0,0,---]. Here the
rising dots .- define t = 0, before and at which time the signal is zero.

1. Find causal sequence ¢ = a * b by direction convolution
2. Form the polynomials A(z) = ¥ a,z" and B(z) = Y b,2", and find C(z) = A(2) - B(z)

3. What do you say about the sequence ¢, and the coefficients of C'(z).
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